Name
Limiting and excess calculations —Draw

1. Balance and Draw the original quantity of atoms present in each reactant beaker.
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a. Whatis the limiting reactant? /™ T
b. Does the pressure in the contain 'iﬁcffégs@or decrease or stay the same? (think)
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3.

In the beakers below a neutralization reaction is taking place.

a.
b.
c.
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In the beakers below 'Eﬁere is a neutrahzatlon and pI’EClpltatlon reaction taking place Balance
and complete the drawing of the products.

Re-write and balance the chemical reaction.
Draw the NaOH at an equal concentration (NaOH is ionic)
Draw the products.

t HClaq NaOH aq —INaClag) + %.20(!)

Hydrochmnc acl d sodlum hydroxide
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Which substance is the limiting reactant? -
If the concentration HCl and NaOH = “x” then what is the concentration of the NaCl? AalA™ A

Does the water have a concentration? ¢
These model is showing Cl" as an equal 5|2e to Na+ Just|fy or nulllfy this aspect of the

model. Mol nad lor
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H;drgchtorlc dmd Barium hydrozids (basg)

a.
b.

‘Ba(OH), - BaClas) +2H20q,
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Which of these chemicals is forms molecules and which form bulk crystals?
Is the ending beaker acidic or basic? \~,> w“f e DT ey M? I




